2.2-2.3

Graphs of Functions

1) Which one of the following equations DOES NOT represent y asa
function of x?

x2-\y| = 4

B) - 2y =8
¢ 2x-y =-6
D) x| -3y =4

E)y xt- P =3

The range of the function f(x) = x| <0 , is
X
[-1, =)
B)  (-= 1]
) (= =)
D) (0 =)
E) (-1 =)
- |- «| if x<0
3) 1 f(x)= {— 2 if O0O=x<4 , where [[ ﬂ is the greatest

[x—4]] if x=4

integer function, then  f(-2) + f(0) + f(2n)=

<A))-2

B) -6
c) 2
D) -1

E) 6



4) Which one of the following statements is TRUE about the function graphed
below?

@ f is decreasing on the interval (-2, 4)

B) [ isincreasing on the interval (-2, 4)

C) f(-2)=5
D) The domain of f is (-2,4)U (4, =)

E) Therange of f is the interval (-6, 5)

5) Which one of the following represent y as a function of x ?
@ 2 ‘ x‘ +y =0
B) 2x+|y[=0
C) Ay -x* =0
D) x=1

E) x%+ (y-1)%=4

J1-5x)7%, if x<2
6) If f(x) = , then f(m) +f(1) =

B) 7
C) -4
D) 5m+2

E) 2m+5



-x+6 if x<-3
7) I f(x)=[|2+5x| if -3= x<1, where [ ]| denotes the
[3x-4] if x=1
greatest integer function , then f(n) - f(-2) =

<A)>—3

B) 13
c) 0
D) 7
E) -7

8) The functionf(x){ % T X<% and k<o, then f(k)—(1/5) f (3) =

@

(b) -2
(c) -6
(d) 2

(€) 6

[3—2x] if 0<x<3

9)Iff(x)={|4x—1| if —3<x<0, then
-2 if x < —3

f (11/4)+ f(-2)+f (—5) =

4
(b) -1
(c) —20
(d) -15
(e) 5



10) The set of all values of x for which [Ex + 1]] = —3, where

[-Idenotes the greatest integer function, is in the interval

@ 1-s-5)
(b) [-4.-3)
© [-7.-9)
@ [-30)
© Is. 9)

11) If [ab]is the largest interval on which the function

4 x<-1
f(x)=4 x* ; —-l<x<1 isincreasing, then a+b=
—X+5 ; Xx=>1

@ :

(b) -1
(© o
(d) 2

(©) 4

12) The graph of the function f(x) = [E — 3}], lies above the x-axis

over the interval

@ [8. )
) (-6.6)
(©) (-3)

(d) (0.0)
(©) (6.0)



|x|+1 if x<1
13) The range of the function f(x)={-x*-1  if 1<x<2, is:

3 if x>2
(-5, ~2]Uf1, )
(b) (=e-2]0[L. )
(©) (== -1]0[1 )
(d) (-5, -1 (3. )
(©) (5. -2]U[1.2) (2, )

14) If D is the domain of f(x)=+16—x* and R is the range of g(x) =

[x + 1] where [x] denotes the greatest integer function of x, then
DNR =

@ {-4,-3,-2,-1,0,1,2,3,4}
(b) (-4,4)

(©) [-44]

(d) (-o0,0)

(&) (~o0.-4][4,)

15) If f(x):§x+2,then f(x-3) =

@f(x)—z
(b) f(x)+2
(© f(x)-3
(d) f(x)+3
(e) f(x)+2/3

N z|—1 2f =z > -1
16 - ) = 4 14
) In the graph of f () { =1 aF g2~
we have

@ one x-intercept and one y-mntercept
(b) one x-intercept and two y-intercepts
(c) two x-mtercepts and one y-mntercept
(d) two x-mtercepts and two y-intercepts
(e) two x-mtercepts only



17)

18) Given f(xz) = {

19)

20)

(422 if <0
ff(x) =< 2z+1 f 0<zxz<?2
|z — 2] o f 2> 2
then f(—1) + f(1)+ f(5)
(@) 10

2211 f =<2
Rz +1] iof z>2
1s the greatest integer function. then f (—4)+ f (-g:.-) 18
equal to

@ -2

©) %

(c) —3

(d -9

) —%

., where ||

T s
Given f(z) =4 V1 —=92)" of <2 ypere
[2x + 1] if =>2
[| is the greatest integer function. then f (7)+ f (1)1is
equal to

D) 57 +2

(c) —4
o b 1l
() 20+ 5

Let f (x) = [x] be the greatest mteger function. Then
only one of the following statements is TRUE ?

(a) y = [z] is not a function by the vertical line test

®) [r-1]=3

© [z]=-3if-4<z<-3
the range of y = [2 — 1] is the set of all integers

(e) thedomainofy = [x — 1] isthe set ofall integers



21) If f (x) = [1 — 2x] . where [] is the greatest integer
function. then f(x) = 1 when

(@) 0<zc< -]2'
@ -3<z<0
© —+<z2<0
d —-1<z<1
€ 2<a<l
2x x==2
X’ -2<x=<1
22) I flx)=| 4-x x= 1 , then f(x) has

two x - intercepts and one y- intercept.

B) one x - intercept and one y - intercept.__
C) one x - intercept and two y- intercepts.
D) two x - intercepts and two y -intercepts.

E) onex - intercept only.

23) ILf(x)=[3x-1] where | ] is the greatest intger function, then
f(x)=0 when

Qi
3

B) leoxet
3

W

C) -1<xsl
3

D} 2<x<1
3

E) -3=x<«1



[x-1] if x>0
24) For the function f(x) =
l2x=51 if x=<0

where[[ ] is the greatest integer function, then f(m)-f(-1/2) =

K

B) 3
g} 2
D) 4

E) -3

25) From the adjacent graph, the intervals over which the function is
increasing:

@[—2, 0] and [2, 4|

26) From the adjacent graph , the function is decreasing on the interval

@) 22




2[2 if x<0

is increasing on the interval
I(x - 1)2 if x=0

27) Thegraphof f(x)

A) (1, =)
B) (0, «)
C) (= 1)
D) (-=.,0)

E) (0,1)



